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QUESTION 1

Jane takes out a loan for $100,000.00 over 10 years and agrees to pay interest only at an annual rate of 8%.
What will her monthly payment be?

A. $333.33

B. $666.67

C. $1,000

D. $8,000

Correct Answer: B

QUESTION 2

A company spends 3/5 of its advertising budget on newspaper ads and 1/3 on radio commercials. What portion of the
advertising budget is left for TV commercials?

A. 172
B. 7/30
C.1/15
D. 1/8

Correct Answer: C

QUESTION 3

A three-digit code must be used to access a computer file. The first digit must be an A or a B. The second digit must be
a number between 0 and 9. The final digit is a single letter from the alphabet from A to Z.

How many possible access codes can there be?
B. 468
C. 520
D. 640

Correct Answer: C

QUESTION 4
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A 3-yard-long ribbon was used to trim four dresses. Each dress used the same amount of ribbon. How much ribbon was
used for each dress?

A. 1 yard

B. 2/3 yard
C. 1/2 yard
D. 3/4 yard

Correct Answer: D

QUESTION 5

A 2-ton truck is taxed at a rate of $0.12 per pound. How much is the total tax bill?
A. $480

B. $240

C. $120

D. $600

Correct Answer: A
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